## Bid Tabulation Garland Independent School District

						ebool District	_
Bid Rfq	110556	Auctior	10-25 Dry and Staple Foods for Student	Auction	ACTIVE	LINE	
Num		Title	Nutrition Services (SNS)	Status			
L			Contract Evaluation Codes	1			
			1NL-Not Low when unit price is calculated				
			<b>3TQ</b> -Taste quality of product unacceptable				
			4BV-Not best overall value based on				
			extended pricing				
			4MO-Minimum order quantities too				
			restrictive				
			4NS-Not to specifications				
			8PS-Failed to provide product sample				
			NA-No award recommended				

# \*Confidential

#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
1	N	8PS	APPLE SAUCE, CHUNKY, FANCY, LOW SUGAR OR UNSWEETENED. Product of US preferred.	500	CS	ATLANTIC BEVERAGE COMPANY	22.72	11,360.00
	N	ЗТQ				*BRAUN BEEF CO INC		
	N	ЗТQ				*THE MASTERS DISTRIBUTION SYSTEMS		
	Y					*CHURCHFIELD TRADING COMPANY		
						TSD DISTRIBUTING INCORPORATED	35.65	17,825.00
3	N	8PS	BEANS, PINTO, GRADE A	550	CS	*BRAUN BEEF CO INC		
	Y					*CHURCHFIELD TRADING COMPANY		
						BUSH BROTHERS & COMPANY	31.00	17,050.00
						GORDON FOOD SERVICE INC	42.17	23,193.50
						*THE MASTERS DISTRIBUTION SYSTEMS		

Bav Attribute Level

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
4	Y		BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE	500	CS	*CHURCHFIELD TRADING COMPANY		
						*BRAUN BEEF CO INC		
						BUSH BROTHERS & COMPANY	40.84	20,420.00
5	N	8PS	BEAN CRISPS, FAVA, IW, MUST CONTRIBUTE 2M/MA OR 1/2 CUP VEGETABLE, VARIETY FLAVORS	350	CS	BUSH BROTHERS & COMPANY	72.00	25,200.00
	Y					*NATIONAL FOOD GROUP INC		
6	Y		BEANS, REFRIED, SMOOTH WITH WHOLE BEANS, VEGETARIAN, LOW SODIUM, NOT TO CONTAIN MORE THAN 200mg PER 1/2 CUP SERVING	1,200	CS	BASIC AMERICAN INC	28.64	34,368.00
						*BRAUN BEEF CO INC *THE MASTERS DISTRIBUTION SYSTEMS		
7	N	4NS	CANNED JUICE SPARKLING, VARIETY FLAVORS, 100% JUICE, 8 OZ CANS	850	CS	APPLE AND EVE	14.00	11,900.00

Y		ENVY BRANDS	15.95	13,557.50
		*THE MASTERS		
		DISTRIBUTION SYSTEMS		

	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
8	N	4NS	CEREAL BAR, WHOLE GRAIN RICH, 2 OZ EQUIVALENT GRAIN, USDA SMART SNACK APPROVED, VARIETY FLAVORS	500	CS	J AND J SNACK FOODS SALES CORP	21.32	10,660.00
	Y					*BRAUN BEEF CO INC		
						*THE MASTERS DISTRIBUTION SYSTEMS		
						*CHURCHFIELD TRADING		
						COMPANY *NATIONAL		
						FOOD GROUP INC		
						GORDON FOOD SERVICE INC	76.00	38,000.00
						SYSCO USA I INC	81.77	40,885.00
9	Y		CEREAL, BLUEBERRY CHEX, BOWL PACK, AT LEAST 51 % WHOLE GRAIN, NUT-FREE, GLUTEN, FREE, 6G OR LESS SUGAR, 10Z GRAIN	2,000	CS	*BRAUN BEEF CO INC		
			EQUIVALENT			*THE MASTERS DISTRIBUTION SYSTEMS		
						SYSCO USA I INC	31.46	62,920.00
						*CHURCHFIELD TRADING		
						COMPANY		

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
						GORDON FOOD SERVICE INC	39.86	79,720.00
10	Y		CEREAL, CHOCOLATE COCOA FLAVOR, BOWL PACK, 96 CT, 25% LESS SUGAR PREFERRED, NO MORE THAN 8 GRAMS SUGAR PER BOWL, PRIMARY INGREDIENT MUST BE WHOLE GRAIN CORN	2,800	CS	*BRAUN BEEF CO INC		
						DISTRIBUTION SYSTEMS		
						SYSCO USA I INC	31.46	88,088.00
						GORDON FOOD SERVICE INC	31.98	89,544.00
						*CHURCHFIELD TRADING COMPANY		
11	Y		CEREAL, CINNAMON TOAST FLAVOR, BOWL PACK, 96 CT, 25% LESS SUGAR PREFERRED, NO MORE THAN 6 GRAMS SUGAR PER BOWL, PRIMARY INGREDIENT MUST BE WHOLE GRAIN WHEAT	2,000	CS	*BRAUN BEEF CO INC		
						*THE MASTERS DISTRIBUTION SYSTEMS		
						SYSCO USA I INC	31.46	62,920.00

		Gordon Food Service Inc	31.98	63,960.00
	Т	CHURCHFIELD RADING COMPANY		

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price	
12	N	4BV	CEREAL, FROSTED FLAKES FLAVOR, BOWL PACK, NO MORE THAN 8 GRAMS SUGAR PER BOWL, 51% WHOLE GRAIN CORN	1,200	CS	*THE MASTERS DISTRIBUTION SYSTEMS			
	Y					*BRAUN BEEF CO INC			
						SYSCO USA I INC	31.46	37,752.00	
						*CHURCHFIELD TRADING COMPANY			
						GORDON FOOD SERVICE INC	44.84	\$53,808.00	
13	Y		PAK, AT LEA NUT-FREE,	CEREAL, HONEY CHEERIOS, BOWL PAK, AT LEAST 51% WHOLE GRAIN, NUT-FREE, 6 GRAMS OR LESS SIGAR, 10Z GRAIN EQUIVALENT	2,000	CS	*BRAUN BEEF CO INC		
						*THE MASTERS DISTRIBUTION SYSTEMS			
						SYSCO USA I INC	31.46	62,920.00	
						*CHURCHFIELD TRADING COMPANY			
						GORDON FOOD SERVICE INC	33.17	66,340.00	
14	Y		CEREAL, HONEY GRAHAM FLAVOR, BOWL PACK, LOW SUGAR PREFERED, PRIMARY INGREDIENT	1,000	CS	*BRAUN BEEF CO INC			
			MUST BE WHOLE GRAIN WHEAT, NO ARTIFICIAL FLAVORS OR COLORS, NO HIGH FRUCTOSE CORN SYRUP						

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
						*THE MASTERS DISTRIBUTION SYSTEMS		
						SYSCO USA I INC	31.46	31,460.00
						*CHURCHFIELD TRADING COMPANY		
15	NA		CEREAL, MARSHMALLOW FLAVOR, BOWL PACK, 96 CT, LOW SUGAR PREFERED, PRIMARY INGREDIENT MUST BE WHOLE GRAIN OATS, GLUTEN FREE	2,800	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
						SYSCO USA I INC	31.46	88,088.00
						GORDON FOOD SERVICE INC	31.98	89,544.00
						*CHURCHFIELD TRADING COMPANY		
16	NA		CEREAL, LOWER SUGAR, FRUITY RINGS, WHOLE GRAIN OAT	1,000	CS	*THE MASTERS DISTRIBUTION		
			CEREAL. GLUTEN-FREE, NO ARTIFICIAL COLORS OR FLAVORS. NO HIGH FRUCTOSE CORN SYRUP. 9 GRAMS OF SUGAR OR LESS.			SYSTEMS		
						SYSCO USA I INC	31.46	31,460.00

					GORDON FOOD SERVICE INC	46.01	46,010.00
17	Y	CEREAL, FLAVOR VARIETY, 2oz BOWL PACK, 60/2oz.	250	CS	*BRAUN BEEF CO INC		

	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
						*THE MASTERS DISTRIBUTION SYSTEMS		
						SYSCO USA I INC	40.71	10,177.50
19	N	1NL	CHICKPEA ROASTED, FLAVOR VARIETY, MUST MEET 1M/M ALTERNATE, IW	300	cs	BUSH BROTHERS & COMPANY	40.75	12,225.00
	N	8PS				*BRAUN BEEF CO INC		
	N	8PS				*THE MASTERS DISTRIBUTION SYSTEMS		
	Y					*NATIONAL FOOD GROUP INC		
						SYSCO USA LINC	79.89	23,967.00
20	Y		CHICKPEA BUTTER, CREAMY, IW, FLAVOR VARIETY, 1M/MA	200	CS	* BRAUN BEEF CO INC		
						*THE MASTERS DISTRIBUTION SYSTEMS		

			*NATIONAL FOOD GROUP INC		
			VOYAGE FOODS INC	16,320.00	3,264,000.00

COFFEE, REGULAR GRIN OR 8/39 OZ VACUUM C CORNBREAD MIX, WHO 6/5 LB, PROVIDE PFS	CANS/CASE	50		*THE MASTERS DISTRIBUTION SYSTEMS *THE MASTERS DISTRIBUTION SYSTEMS *BRAUN BEEF CO INC		
	DLE GRAIN,	100	CS	DISTRIBUTION SYSTEMS *BRAUN BEEF CO		
				SYSCO USA I INC	44.82	4,482.00
CORNSTARCH, 24/16 O	DZ/CASE	50	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
CRACKERS, VEGGIE, AT WHOLE GRAIN, 2 OZ GI EQUIVALENT, IW, 180/	RAIN	500	CS	GORDON FOOD SERVICE INC	84.93	42,465.00
				*THE MASTERS DISTRIBUTION SYSTEMS		
				SYSCO USA I INC	89.70	44,850.00
PACKAGES, FLAVOR VA	RIETY,	750	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
				GORDON FOOD SERVICE INC	45.40	34,050.00
				SYSCO USA I INC	46.73	35,047.50
	SWEETENED, INDIVIUA PACKAGES, FLAVOR VA 2.50Z, NO ARTIFICIAL I	SWEETENED, INDIVIUAL PACKAGES, FLAVOR VARIETY, 2.50Z, NO ARTIFICIAL FLAVORS OR	SWEETENED, INDIVIUAL PACKAGES, FLAVOR VARIETY, 2.50Z, NO ARTIFICIAL FLAVORS OR	SWEETENED, INDIVIUAL PACKAGES, FLAVOR VARIETY, 2.50Z, NO ARTIFICIAL FLAVORS OR	SWEETENED, INDIVIUAL PACKAGES, FLAVOR VARIETY, 2.50Z, NO ARTIFICIAL FLAVORS OR PRESERVATIVES GORDON FOOD SERVICE INC	SWEETENED, INDIVIUAL PACKAGES, FLAVOR VARIETY, 2.50Z, NO ARTIFICIAL FLAVORS OR PRESERVATIVESDISTRIBUTION SYSTEMSGORDON FOOD SERVICE INC45.40

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
						*CHURCHFIELD TRADING COMPANY		
26	5 N	8PS	DRESSING, CAESAR, SHELF STABLE, P.C., 1.5 OZ	100	) CS	*BRAUN BEEF CO INC		
	N	ЗТQ				DIAMOND CRYSTAL BRANDS INC	18.00	0 1,800.00
	Y					*THE MASTERS DISTRIBUTION SYSTEMS		
						*CHURCHFIELD TRADING COMPANY		
27	/ N	3TQ	DRESSING, ITALIAN, P.C., 1 OZ, MUST BE SHELF STABLE, 100/CS	100	CS	DIAMOND CRYSTAL BRANDS INC	12.60	0 1,260.00
	N	8PS 3TQ				*BRAUN BEEF CO INC		
	N					*CHURCHFIELD TRADING COMPANY		
	Y					*THE MASTERS DISTRIBUTION SYSTEMS		
30	) Y		FORTUNE COOKIES, IW, WHOLE GRAIN, PROVIDE PFS	200	) CS	INTERNATIONAL FOODS SOLUTIONS INC	25.25	5 5,050.00
31	. Y		FRITOS, CORN CHIP, 8/16 OZ BAGS/CS, FRITO LAY # 12248 OR SIMILAR	1,400	CS	SYSCO USA I INC	18.90	26,460.00

Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
					GORDON FOOD SERVICE INC	20.74	29,036.00
					*THE MASTERS DISTRIBUTION SYSTEMS		
N	3TQ	FRUIT COCKTAIL, EXTRA-LIGHT SYRUP OR PACKED IN JUICE, FANCY, 6/#10 CANS. Product of US preferred.	2,000	CS	ATLANTIC BEVERAGE COMPANY	32.20	64,400.00
N	ЗТQ				*BRAUN BEEF CO INC		
N	зтq				*THE MASTERS DISTRIBUTION SYSTEMS		
Y					*CHURCHFIELD TRADING COMPANY		
					GORDON FOOD SERVICE INC	48.90	97,800.00
N	3TQ	FRUIT CUPS, PEARS, INDIVIDUALLY	500	CS	*BRAUN BEEF CO		
		PACKAGED, SHELF STABLE, 4.5 OZ (1/2 CUP) JUICE PACKED, FANCY			INC		
N	ЗТQ				*THE MASTERS DISTRIBUTION SYSTEMS		
	(Y/N) (Y/N) N N N N N N N N N N N N N N N N N N	(Y/N) N 3TQ N 3TQ N 3TQ N 3TQ N 3TQ	(Y/N)       Image: Second	(Y/N)       Image: Second	(Y/N)       Image: Constraint of the sympetry of the s	Y/NI       Image: Control of the second	VVNI       Image: Second

Y		*NATIONAL FOOD GROUP INC	
		*CHURCHFIELD TRADING COMPANY	

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
						SYSCO USA I INC	47.28	23,640.00
						GORDON FOOD SERVICE INC	50.40	25,200.00
34	N	3TQ	FRUIT CUPS, PINEAPPLE, INDIVIDUALLY PACKAGED, SHELF STABLE, 4.5 OZ (1/2 CUP) JUICE PACKED, FANCY	750	CS	*CHURCHFIELD TRADING COMPANY		
	N	ЗТQ				SYSCO USA I INC	30.69	23,017.50
	N	ЗТQ				*BRAUN BEEF CO INC		
	Y					*NATIONAL FOOD GROUP INC		
						*THE MASTERS DISTRIBUTION SYSTEMS		
						GORDON FOOD SERVICE INC	48.15	36,112.50
35	Y		GELATIN, VARIETY FLAVORS, SUGAR FREE 12/24 OZ.	1,000	CS	DIAMOND CRYSTAL BRANDS INC	25.35	25,350.00
						ROBBINS SALES COMPANY, INC.	41.82	41,820.00
36	N	8PS	GRAHAM CRACKER SNACK, WHOLE GRAIN, MUST CREDIT 1 GRAIN, IW	500	CS	*BRAUN BEEF CO		

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
	Y					J AND J SNACK FOODS SALES CORP	35.42	17,710.00
						*THE MASTERS DISTRIBUTION SYSTEMS		
						*NATIONAL FOOD GROUP INC		
						SYSCO USA I INC	50.21	25,105.00
37	N	1NL	GRANOLA, INDIVIDUALLY PACKAGED, 51% WHOLE GRAIN, LOW FAT, GLUTEN FREE, NO WHEAT, NO SOY INGREDIENTS, PLAIN AND FLAVOR VARIETIES	500	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
	N	1NL				SYSCO USA I INC	83.76	41,880.00
	Y					PRAIRIE MILLS BAKING COMPANY LLC	103.57	51,785.00
						*BRAUN BEEF CO INC		
38	N	8PS	GRAVY MIX, COUNTRY STYLE, NO TRANS FAT, NO MORE THAN 250 MG SODIUM, ADD WATER ONLY, 6/24 OZ.	800	CS	DIAMOND CRYSTAL BRANDS INC	27.65	22,120.00
	N	8PS				*THE MASTERS DISTRIBUTION SYSTEMS		
	N	8PS				*BRAUN BEEF CO INC		

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
	Y					SYSCO USA LINC	44.84	35,872.00
39	Y		HONEY, 100% PURE, US GRADE A, PACKED 8 1/2 GAL. Or SIMILAR	300	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
40	Y		JALAPENO PEPPERS, NACHO SLICED, DOMESTIC PACK IN WATER OR NATURAL JUICE, 6/#10 CANS	300	CS	ATLANTIC BEVERAGE COMPANY	24.94	7,482.00
						SYSCO USA I INC	60.01	18,003.00
					*THE MASTERS DISTRIBUTION SYSTEMS			
						*BRAUN BEEF CO INC		
41	N	8PS	JELLY, VARIETY FLAVOR, P.C., 1.5 OZ, SHELF STABLE	2,500	CS	*BRAUN BEEF CO INC		
	Y					*THE MASTERS DISTRIBUTION SYSTEMS		
						DIAMOND CRYSTAL BRANDS INC	17.80	44,500.00

						*CHURCHFIELD TRADING COMPANY		
42	Ν	8PS	JUICE, VEGETABLE & FRUIT BLEND, SHELF STABLE, 4.23 OZ., MUST CONTRIBUTE 1/2 VEGETABLE.	1,000	CS	SYSCO USA I INC	8.33	8,330.00

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
	Y					APPLE AND EVE	9.20	9,200.00
						GORDON FOOD SERVICE INC	12.10	12,100.00
						*COUNTRY PURE FOODS INC		
						*THE MASTERS DISTRIBUTION SYSTEMS		
						TROPICAL PARADISE INC	35.97	35,970.00
43	43 Y		MANDARIN ORANGES, WHOLE SEGMENTS, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK, 6/#10 CANS. PRODUCT OF US PREFERRED	4,000	CS	ATLANTIC 27.95 BEVERAGE COMPANY	111,800.00	
						ROBBINS SALES COMPANY, INC.	29.44	117,760.00
						*CHURCHFIELD TRADING COMPANY		
						*BRAUN BEEF CO INC		
						GORDON FOOD SERVICE INC	45.40	181,600.00
						*THE MASTERS DISTRIBUTION SYSTEMS		

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
44	N	1NL	MANDARIN ORANGE CUPS, PACKED IN JUICE, 4.5 OZ, 72/CS	1,500	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
	N	1NL				*CHURCHFIELD TRADING COMPANY		
	N	ЗТQ				*BRAUN BEEF CO INC		
	Y					*NATIONAL FOOD GROUP INC		
						GORDON FOOD SERVICE INC	48.15	72,225.00
45	ORDERED IN SMALLE	MAYONNAISE, LIGHT, P.C., 12 GR, ORDERED IN SMALLER QUANTITIES, 75 CS PER ORDER	. 1,000 CS	CS	DIAMOND CRYSTAL BRANDS INC	14.85	14,850.00	
	N	4MO				*BRAUN BEEF CO INC		
	Y					*THE MASTERS DISTRIBUTION SYSTEMS		
						*CHURCHFIELD TRADING COMPANY		
						GORDON FOOD SERVICE INC	28.00	28,000.00
46	Y		MEAL BREAKS, CHEESE SPREAD CUP WITH VEGGIE JUICE, PRE- PACKAGED MEALS FOR LUNCH, SHELF STABLE, ES FOODS #61410 OR SIMILAR	800	CS	*ES FOODS		

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
						*THE MASTERS DISTRIBUTION SYSTEMS		
						*BRAUN BEEF CO INC		
						SYSCO USA I INC	113.04	90,432.00
47	Y		MEAL BREAKS, BUTTERBALL	800	CS	*ES FOODS		
			TURKEY STICK, PRE-PACKAGED MEALS FOR SUPPER, SHELF STABLE, 30/CS					
						*THE MASTERS DISTRIBUTION SYSTEMS		
						*BRAUN BEEF CO INC		
						SYSCO USA I INC	121.95	97,560.00
48	Y		MEAL BREAKS, SWEET BBQ BITES,	800	CS	*ES FOODS		
40			PRE-PACKAGED MEALS FOR SUPPER, SHELF STABLE, 30/CS	800				
						*THE MASTERS DISTRIBUTION SYSTEMS		

			*BRAUN BEEF CO INC		
			SYSCO USA I INC	121.95	97,560.00

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
49	Y		MILK SOY, VANILLA, PACIFIC NATURAL FOOD OR SUNRICH BRANDS ONLY, 24/8 OZ/CS	200	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
50	Y		MILK ALMOND, UNSWEETENED, SHELF STABLE. MUST BE DAIRY, SOY, GLUTEN AND EGG FREE. 6/8oz./CASE	100	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
51	Y		MIX, TURKEY GRAVY, ADD WATER ONLY, NO TRANS-FATS	75	CS	*BRAUN BEEF CO INC		
						*THE MASTERS DISTRIBUTION SYSTEMS		
						DIAMOND CRYSTAL BRANDS INC	23.85	1,788.75
						SYSCO USA I INC	53.03	3,977.25
52	Y		MUFFIN OR QUICK BREAD MIX, 51% WHOLE GRAIN, JUST ADD WATER, VARIETY USE, 6/5LB OR SIMILAR	400	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
						*BRAUN BEEF CO INC		
						STERLING BV INC	59.00	23,600.00

53	Ν	1NL	MUSTARD, INDIVIDUAL P.C., FANCY, 4.5 GRAM, 500/CS	500	CS	*CHURCHFIELD TRADING COMPANY	
	Y					*THE MASTERS DISTRIBUTION SYSTEMS	

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
						DIAMOND CRYSTAL BRANDS INC	13.25	6,625.00
						GORDON FOOD SERVICE INC	19.61	9,805.00
54	N	8PS	MUSTARD, BULK, NO HIGH FRUCTOSE CORN SYRUP, TRANS FAT, OR GLUTEN, NO MORE THAN 70 MG OF SODIUM PER SERVING, 4 105 OZ JUGS/CS, FRENCH'S BRAND OR SIMILAR	ŀ	CS	*BRAUN BEEF CO INC		
	N	ЗТQ				CHURCHFIELD TRADING COMPANY	13.98	4,194.00
	Y					*THE MASTERS DISTRIBUTION SYSTEMS		
55	Y		OATS, WHOLE GRAIN, QUICK COOKING	200	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
56	N	4MO	PAN RELEASE, AEROSAL, HIGH YIELD, MINIMUM 90% OIL, NO WATER, GRAIN ALCOHOL, SALT, OR INORGANIC COMPOUNDS, ZERO CALORIES PER SPRAY, NO CFC'S OR ADDED TRANS-FATS, 6/14 OZ/CS		CS	*BRAUN BEEF CO INC		
	Y					SYSCO USA I INC	24.76	19,808.00
						GORDON FOOD SERVICE INC	26.00	20,800.00

57	Y	PASTA, LASAGNA SHEETS, 51% WHOLE GRAIN, NO BOIL, 13.250Z/PKG, 6/CS OR SIMILAR	300		*BRAUN BEEF CO INC	
58	NA	PASTA, ROTINI, ENRICHED GRAIN,	250	CS	*BRAUN BEEF CO INC	

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
						*THE MASTERS DISTRIBUTION SYSTEMS		
59	Y		PASTE, TOMATO, 12 OZ CAN	150	CS	CALFED FINANCIAL CORPORATION	26.47	3,970.50
						*THE MASTERS DISTRIBUTION SYSTEMS		
60	Y		PEACHES, SLICED, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK, GRADE B, 6/#10 CANS/CS.Product of US preferred.	5,000	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
						ATLANTIC BEVERAGE COMPANY	32.01	. 160,050.00
						ROBBINS SALES COMPANY, INC.	32.44	162,200.00
						*BRAUN BEEF CO INC		
						*CHURCHFIELD TRADING COMPANY		
						GORDON FOOD SERVICE INC	45.40	227,000.00

61	N	ЗТQ	PEARS, DICED, BARTLETT, GRADE B, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK, 6/#10/CS. Product of US preferred.	2,000	CS	ATLANTIC BEVERAGE COMPANY	22.80	45,600.00
	Ν	ЗТQ				*BRAUN BEEF CO INC		

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
	N	3TQ				ROBBINS SALES COMPANY, INC.	25.90	51,800.00
	Y					*CHURCHFIELD TRADING COMPANY		
						GORDON FOOD SERVICE INC	42.65	85,300.00
						*THE MASTERS DISTRIBUTION SYSTEMS		
62	N	8PS	PEAS, BLACKEYED, DRY PEAS REHYDRATED AND CANNED, FANCY, 6/#10 CANS/CS	500	CS	*BRAUN BEEF CO		
	Y					BUSH BROTHERS & COMPANY	31.00	15,500.00
63	N	ЗТQ	PICKLES, DILL, SLICED HAMBURGER CHIP STYLE, NO MORE THAN 300mg SODIUM PER 1 OZ SERVING, 4/1 GAL/CS	500	CS	*BRAUN BEEF CO INC		
	Y					*THE MASTERS DISTRIBUTION SYSTEMS		
64	N	3TQ	PINEAPPLE TIDBITS, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK, GRADE A, PRODUCT OF USA PREFERRED, 6/#10 CANS/CS	2,500	CS	*CHURCHFIELD TRADING COMPANY		
	N	8PS				ROBBINS SALES COMPANY, INC.	26.90	67,250.00
	N	ЗТQ				ATLANTIC BEVERAGE COMPANY	28.92	72,300.00

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
	Y					*BRAUN BEEF CO INC *THE MASTERS DISTRIBUTION SYSTEMS		
						GORDON FOOD SERVICE INC	45.74	114,350.00
65	N	1NL	POPCORN, HALF POPPED, WHOLE	400	CS	*NATIONAL		
			GRAIN, IW, MUST CONTRIBUTER AT LEAST 1 WGR EQUIVALENT, VARIETY FLAVORS			FOOD GROUP INC		
	Y					*THE MASTERS DISTRIBUTION SYSTEMS	118.30	47,320.00
						SYSCO USA I INC	126.68	50,672.00
66	Y		POTATOES, INSTANT, PREMIUM PEARLS, NO TRANS FATS, VEGETARIAN, GLUTEN FREE, NO MORE THAN 350mg OF SODIUM PER SERVING, 10/29.3 OZ POUCHES/CS	3,000	CS	BASIC AMERICAN INC	54.52	163,560.00
						*BRAUN BEEF CO INC		
						*THE MASTERS DISTRIBUTION SYSTEMS		
						GORDON FOOD SERVICE INC	73.26	219,780.00
67	Y		RAISINS, GOLDEN,FLAVOR VARIETY, NO ADDED SUGAR OR ARTIFICIAL FLAVORS, 1.33 OZ BOX, 144/CS	800	CS	GORDON FOOD SERVICE INC	62.72	50,176.00

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
	ALT					SUN MAID GROWERS OF CALIFORNIA	69.64	55,712.00
						INC *CHURCHFIELD TRADING COMPANY		
						SYSCO USA I INC	90.34	72,272.00
68	3 N	8PS	RANCH, P.C., SHELF STABLE, 1.5 OZ	800	CS	DIAMOND CRYSTAL BRANDS INC	14.35	11,480.00
	N	8PS				*CHURCHFIELD TRADING COMPANY		
	Y					*THE MASTERS DISTRIBUTION SYSTEMS		
						*BRAUN BEEF CO		
69	) N	8PS	RANCH (BUTTERMILK) DRESSING, DRY MIX, NO MORE THAN 50mg SODIUM PER SERVING SIZE, NO ARTIFICIAL COLORS OR FLAVORS, 18 PKGS/CS	400	CS	DIAMOND CRYSTAL BRANDS INC	15.15	6,060.00
	Y					*BRAUN BEEF CO INC		
	-					*THE MASTERS DISTRIBUTION SYSTEMS		

	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
70	Y		RICE, BROWN, LONG GRAIN, 51% WHOLE GRAIN, PARBOILED, 25# BAGS, UNCLE BEN'S OR EQUAL	300	CS	SYSCO USA I INC	28.17	8,451.00
						*THE MASTERS DISTRIBUTION SYSTEMS		
71	Y		SALAD OIL, VEGETABLE	50	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
72	NA		SALSA, HABANERO PEPPER, 250MG/SVG OR LESS	50	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
73	Y		SALSA, VERDE, 260MG SVGS OR LESS	50	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
74	Y		SAUCE, BARBECUE, LOW SODIUM, BULK	200	CS	CALFED FINANCIAL CORPORATION	48.68	9,736.00
						*THE MASTERS DISTRIBUTION SYSTEMS		
76	N	3TQ	SAUCE, BUFFALO WING, BLEND OF CAYENE PEPPER AND VINEGAR, NO MARGARINE, 4/1GAL CS	100	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
	N	3TQ				*CHURCHFIELD TRADING COMPANY		

	Y				*BRAUN BEEF CO INC	
77	Ν	SAUCE, GENERAL TSO, LOW SODIUM, 4/5#/CS	150	CS	*BRAUN BEEF CO INC	

64.00         9,600.0
64.00 9,600.0
47.86 7,179.0
46.00 13,800.0

				INTERNATIONAL FOODS SOLUTIONS INC	64.25	19,275.00
81	Y	SAUCE, KOREAN BBQ, SHELF STABLE, 6/.5 GALLON/CS	900	<sup>‡</sup> CHURCHFIELD TRADING COMPANY		

Ln #	Award	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
	(Y/N)							
						*THE MASTERS DISTRIBUTION SYSTEMS		
						SYSTEMS		
						*BRAUN BEEF CO INC		
82	Y		SAUCE, SIRACHA 6/17 OZ/CASE	150	CS	*BRAUN BEEF CO		
						*THE MASTERS DISTRIBUTION SYSTEMS		
						NIPPON SHOKKEN U S A	76.00	11,400.00
83	Y		SAUCE, SWEET THAI CHILI, 6/33.8 OZ./CASE, PLASTIC BOTTLE	50	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
84	N	1NL	SAUCE, SRIRACHA HOT CHILI. 500/7g PACKETS/CASE.	200	CS	*BRAUN BEEF CO INC		
	Ν	1NL				*THE MASTERS DISTRIBUTION SYSTEMS		
	Y					CALFED FINANCIAL CORPORATION	28.99	5,798.00

85	Ν	ЗТQ	SAUCE HOT, VALENTINA PORTION PACKETS, .25 OZ, 200/CS OR SIMILAR	100	CS	DIAMOND CRYSTAL BRANDS INC	8.25	825.00
	Y					*BRAUN BEEF CO INC		

(Y/N)		scription	Quantity	UOM	Supplier	Price	Extended Price
					*THE MASTERS DISTRIBUTION SYSTEMS		
Y	SEASC	NING, CREOLE, NO SALT.	100	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
Y	PEPPE MSG,	R, NO SALT, NO SUGAR, N 6/19.2 OZ/CS, CHEF PAUL	ю	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
Y	SEASC PEPPE LIME 130m	NING, CONTAINS CHILI RS, SALT AND DEHYDRATI UICE, NO MORE THAN 3 SODIUM PER 1 GRAM		CS	*THE MASTERS DISTRIBUTION SYSTEMS		
Y	SLUSH 100%	DRINKS, VARIETY FLAVOR JUICE, CREDITS AS 0.5 CUI		CS	TROPICAL PARADISE INC	23.95	11,975.00
					GORDON FOOD SERVICE INC	25.55	12,775.00
Y	FLAVC PACKA AS A C	OR VARIETY, INDIVIDUALLY AGED, 100% JUICE, CREDIT 9.5 CUP VEGETABLE, SHELF	r S	CS	TROPICAL PARADISE INC	22.50	11,250.00
Y	MSG, ONLY, INGRE BEEF	NO TRANS FAT, PASTE FO LIQUID NOT ACCEPTED, DIENT STATEMENT READS AND BEEF STOCK, ETC, 64	RM 5	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
Y	SOUP NO M FORM INGRE READ NATU	BASE, CHICKEN, SALT FRE SG, NO TRANS FAT, PASTE ONLY, NO LIQUID, DIENT STATEMENT MUST CHICKEN, INCLUDING RAL CHICKEN JUICES,		CS	*THE MASTERS DISTRIBUTION SYSTEMS		
Y	SOUP, REDU	CREAM OF MUSHROOM, CED SODIUM, 12/50 OZ	500	CS	*BRAUN BEEF CO INC		
					*THE MASTERS DISTRIBUTION SYSTEMS		
	Υ Υ Υ Υ	Y SEASC PEPPE MSG, SEASC PEPPE LIME J SEASC PEPPE LIME J 130mg PACKA FOILA Y SLUSH 100% FRUIT, Y SLUSH FLAVC PACKA AS A O STABL	Y       SEASONING, LEMON & CRACKEI PEPPER, NO SALT, NO SUGAR, N MSG, 6/19.2 OZ/CS, CHEF PAUL SEASONING BLEND OR EQUAL         Y       SEASONING PACKETS, FRUIT SEASONING BLEND OR EQUAL         Y       SEASONING PACKETS, FRUIT SEASONING BLEND OR EQUAL         Y       SEASONING PACKETS, FRUIT SEASONING CONTAINS CHILI PEPPERS, SALT AND DEHYDRATI LIME JUICE, NO MORE THAN 130mg SODIUM PER 1 GRAM PACKAGE, TAJIN BRAND OR FOLIAI         Y       SLUSH DRINKS, VARIETY FLAVOR 100% JUICE, CREDITS AS 0.5 CUI FRUIT, SHELF STABLE, 60/CS         Y       SLUSH DRINKS, VEGETABLE, FLAVOR VARIETY, INDIVIDUALLY PACKAGED, 100% JUICE, CREDIT AS A 0.5 CUP VEGETABLE, SHELF STABLE, 60/CS         Y       SOUP BASE, BEEF, SALT FREE, N MSG, NO TRANS FAT, PASTE FO ONLY, LIQUID NOT ACCEPTED, INGREDIENT STATEMENT READD BEEF AND BEEF STOCK, ETC, 64 1 CONCENTRATE, 12/1# CS         Y       SOUP BASE, CHICKEN, SALT FRE NO MSG, NO TRANS FAT, PASTE FORM ONLY, NO LIQUID, INGREDIENT STATEMENT MUST READ CHICKEN, INCLUDING NATURAL CHICKEN JUICES, CHICKEN EAT ETC 6ATO 1	Y       SEASONING, LEMON & CRACKED PEPPER, NO SALT, NO SUGAR, NO MSG, 6/19.2 OZ/CS, CHEF PAUL SEASONING BLEND OR EQUAL       80         Y       SEASONING PACKETS, FRUIT SEASONING, CONTAINS CHILI PEPPERS, SALT AND DEHYDRATED LIME JUICE, NO MORE THAN 130mg SODIUM PER 1 GRAM PACKAGE, TAJIN BRAND OR FOLIAL       250         Y       SLUSH DRINKS, VARIETY FLAVOR, 100% JUICE, CREDITS AS 0.5 CUP FRUIT, SHELF STABLE, 60/CS       500         Y       SLUSH DRINKS, VEGETABLE, FLAVOR VARIETY, INDIVIDUALLY PACKAGED, 100% JUICE, CREDITS AS A 0.5 CUP VEGETABLE, SHELF STABLE, 60/CS       500         Y       SUUSH DRINKS, VEGETABLE, SHELF STABLE, 60/CS       500         Y       SOUP BASE, BEEF, SALT FREE, NO MSG, NO TRANS FAT, PASTE FORM ONLY, LIQUID NOT ACCEPTED, INGREDIENT STATEMENT READS BEEF AND BEEF STOCK, ETC, 64 TO 1 CONCENTRATE, 12/1# CS       500         Y       SOUP BASE, CHICKEN, SALT FREE, NO MSG, NO TRANS FAT, PASTE FORM ONLY, NO LIQUID, INGREDIENT STATEMENT MUST READ CHICKEN, INCLUDING NATURAL CHICKEN JUICES, CHICKEN RATE FTC 64 TO 1 CONCENTRATE, TTC 64 TO 1 CONCENTRATE, TTC 64 TO 1 CONCENTRATE, TTC 64 TO 1 CONCENTRATE, TTC 64 TO 1 SOUP CREAM OF MUSHROOM, REDUCED SODIUM, 12/50 OZ	Y       SEASONING, LEMON & CRACKED PEPPER, NO SALT, NO SUGAR, NO MSG, 6/19.2 OZ/CS, CHEF PAUL SEASONING BLEND OR EQUAL       80       CS         Y       SEASONING BLEND OR EQUAL       250       CS         Y       SEASONING PACKETS, FRUIT SEASONING, CONTAINS CHIL PEPPERS, SALT AND DEHYDRATED LIME JUICE, NO MORE THAN 130mg SODIUM PER 1 GRAM PACKAGE, TAJIN BRAND OR FOILAI       250       CS         Y       SLUSH DRINKS, VARIETY FLAVOR, 100% JUICE, CREDITS AS 0.5 CUP FRUIT, SHELF STABLE, 60/CS       500       CS         Y       SLUSH DRINKS, VEGETABLE, FLAVOR VARIETY, INDIVIDUALLY PACKAGED, 100% JUICE, CREDITS AS A 0.5 CUP VEGTABLE, SHELF STABLE, 60/CS       500       CS         Y       SOUP BASE, BEEF, SALT FREE, NO MSG, NO TRANS FAT, PASTE FORM ONLY, LIQUID NOT ACCEPTED, INGREDIENT STATEMENT READS BEEF AND BEEF STOCK, ETC, 64 TO 1 CONCENTRATE, 12/1# CS       500       CS         Y       SOUP BASE, CHICKEN, SALT FREE, NO MSG, NO TRANS FAT, PASTE FORM ONLY, NO LIQUID, INGREDIENT STATEMENT MUST READ CHICKEN, INCLUDING NATURAL CHICKEN, INCLUDING NATURAL CHICKEN, INCLUDING NATURAL CHICKEN JUICES, CHICKEN EAT ETC EATO 1       500       CS         Y       SOUP REAM OF MUSHROOM, REDUCED SODIUM, 12/50 OZ       500       CS	Y     SEASONING, CREDLE, NO SALT.     100     CS     THE MASTERS       Y     SEASONING, LEMON & CRACKED PEPPER, NO SALT, NO SUGAR, NO MSG, 6/19.2 OZ/CS, CHE PAUL SEASONING BLEND OR EQUAL     80     CS     THE MASTERS       Y     SEASONING PACKETS, FRUIT SEASONING BLEND OR EQUAL     250     CS     THE MASTERS       Y     SEASONING CONTAINS CHILI PEPPER, SALT AND DEHYDRATED LIME JUCE, NO MORE THAN PACKAGE, TAIN BRAND OR EQUID     250     CS     THE MASTERS       Y     SEASONING CONTAINS CHILI PEPPERS, SALT AND DEHYDRATED LIME JUCE, NO MORE THAN PACKAGE, TAIN BRAND OR EQUID     250     CS     TROPICAL       Y     SLUSH DRINKS, VARIETY FLAVOR, 100% JUICE, CREDITS AS 0.5 CUP FRUIT, SHELF STABLE, 60/CS     500     CS     TROPICAL       Y     SLUSH DRINKS, VEGETABLE, FLAVOR VARIETY, INDIVIDUALLY PACKAGED, 100% JUICE, CREDITS AS A.0.5 CUP VEGETABLE, SHELF STABLE, 60/CS     500     CS     TROPICAL       Y     SOUP BASE, BEEF, SALT FREE, NO MSG, NO TRANS FAT, PASTE FORM ONLY, LIQUID NOT AT ACCEPTED, INGREDIENT STAEMENT MUST READ OTERTRATE, 12/1# CS     500     CS     THE MASTERS DISTRIBUTION SYSTEMS       Y     SOUP BASE, CHICKEN, SALT FREE, NO INGREDIENT STAEMENT MUST READ CHICKEN, JUICES, CHICKEM, RALT FREE, ALLT FREE, NO INGREDIENT STAEMENT MUST READ CHICKEN, JUICES, CHICKEM, RALT FREE, ALLT FREE, NO INGREDIENT STAEMENT MUST READ CHICKEN, JUICES, CHICKEM, RALT FREE, ALLT FREE, SED STRUETION SYSTEMS     SOUP BASE, CHICKEN, SALT FREE, NO INGREDIENT STAEMENT MUST READ CHICKEN, JUICES, CHICKEM, RALT FREE, ALLT FREE, SED STRUETION SY	Y     SEASONING, CREDLE, ND SALT.     1.00     CS     THE MASTERS DISTRIBUTION SYSTEMS       Y     SEASONING, CREDLE, ND SALT.     1.00     CS     THE MASTERS DISTRIBUTION SYSTEMS       Y     SEASONING, LEMON & CRACKED, PEPPER, NO SALT, NO SUGAR, NO MSG, 6/19.2 07/CS, CHEF PAUL SEASONING DEIND OR EQUAL     80     CS     THE MASTERS DISTRIBUTION SYSTEMS       Y     SEASONING PACKETS, FRUIT SEASONING, CONTAINS CHIL PEPPERS, SALT AND DE HYDRATED LIME JUICE, NO MORE THAN 130mg SODIUM PER 1 GRAM PACKAGE, TAIN PORTATED LIME JUICE, NO MORE THAN 130mg SODIUM PER 1 GRAM PACKAGE, TAIN PORTATED LIME JUICE, NO MORE THAN 130mg SODIUM PER 1 GRAM PACKAGE, TAIN PORTATED LIME JUICE, NO MORE THAN 130mg SODIUM PER 1 GRAM PACKAGE, TAIN PORTATED LIME JUICE, NO MORE THAN 130mg SODIUM PER 1 GRAM PACKAGE, TAIN PORTATED LIME JUICE, NO MORE THAN 130mg SODIUM PER 1 GRAM PACKAGE, TAIN PERSON PORTATED LIME JUICE, ORDITA S5 0.5 CUP FRUIT, SHELF STABLE, GO/CS     TROPICAL CALS     23.95       Y     SLUSH DRINKS, VEGETABLE, FLAVOR VARIETY, INDIVIDUALLY PACKAGED, 100% JUICE, CREDITS AS 0.5 CUP GRETABLE, SHELF STABLE, GO/CS     S00     CS     TROPICAL PARADISE INC     22.50       Y     SULH DRINKS, VEGETABLE, SHELF STABLE, GO/CS     S00     CS     THE MASTERS DISTRIBUTION SYSTEMS     22.50       Y     SOUP DASE, BEEF, SALT FREE, NO NGERDENT STATEMENT MUST READ CHCKEN, NOLTING NOREDENT STATEMENT MUST READ CHCKEN, NOLTINGS, CHCHCKEN X ATCE, ALT FREE, NO SYSTEMS     S000     CS     THE MASTERS DISTRIBUTION SYSTEMS       Y     SOUP ASE, CHICKEN, SALT FREE, NO NOR MOLT, NO LIQUID, NOREDENT STATEMENT MUST READ CHCKEN,

	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
94	Y		SOUP, TOMATO, LOW SODIUM	300	CS	*BRAUN BEEF CO INC		
						*THE MASTERS DISTRIBUTION SYSTEMS		
95	Y		SPICE, BLACK PEPPER, FINE GROUND, 24 OZ OR LESS, 6/CS	40	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
96	Y		SPICE, CAYENNE PEPPER GROUND, 24 OZ OR LESS, 6/CS	40	CS	GORDON FOOD SERVICE INC	9.51	380.40
	ALT					*THE MASTERS DISTRIBUTION SYSTEMS		
97	N	1NL	SPICE, CHILI POWDER, GROUND, MILD ROBUST FLAVOR, AMERICAN MADE PRODUCT ONLY, 24 OZ OR LESS, 6/CS	40	CS	GORDON FOOD SERVICE INC	8.91	356.4(
	Y					*THE MASTERS DISTRIBUTION SYSTEMS		
98	Y		SPICE, DICED CHIPOTLE, IN ADOBO, 24/70Z/CS OR SIMILAR	80	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
99	Y		SPICE, CINNAMON, GROUND, 24 OZ OR LESS, 6/CS	40	CS	*THE MASTERS DISTRIBUTION SYSTEMS		

	100	N	1NL	SPICE, CUMIN, GROUND, 24 OZ OR	40	CS	GORDON FOOD	11.62	464.80
				LESS, 6/CS			SERVICE INC		
		Y					*THE MASTERS		
							DISTRIBUTION		
							SYSTEMS		
l									

	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
101	Y		SPICE, GARLIC, GRANULATED, AMERICAN MADE PRODUCT ONLY, 24 OZ OR LESS, 6/CS	40	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
102	Y		SPICE, ONION, GRANULATED, AMERICAN MADE PRODUCT ONLY, 1#	40	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
103	N	4NS	SPICE, PAPRIKA, SMOKED, 24 OZ OR LESS, 6/CS	40	CS	GORDON FOOD SERVICE INC	8.34	333.60
	Y					*THE MASTERS DISTRIBUTION SYSTEMS		
104	Y		SPICE, PARSLEY, DRIED, 24 OZ OR LESS, 6/CS	80	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
105	Y		SPICE, ITALIAN BLEND, LEAVES, DRIED, 1 #	100	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
106	Y		SPICE, PEPPER, RED CRUSHED, BULK	50	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
108	Ŷ		SPORTS DRINK, ZERO, FLAVOR VARIETY, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE	1,500	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
109	Ŷ		SPORTS DRINK, G2, FLAVOR VARIETY, LOW CALORIE, NO MORE THAN 60 CAL PER 12 OZ BOTTLE	800	CS	*THE MASTERS DISTRIBUTION SYSTEMS		

						GORDON FOOD	16.90	13,520.00
						SERVICE INC		
110	Ν	8PS	STUFFING MIX, MADE WITH A	500	CS	*BRAUN BEEF CO		
			BLEND OF CORNBREAD AND			INC		
			OTHER SPECIALTY BREADS, LARGE					
			AND VARIED CUTS OF BREAD					
			COMBINED WITH CLELERY, ONION,					
			HERBS, AND SEASONINGS,					
			PRFPARED WITH HOT WATER					

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
	Y		ONLY, NO TRANS FATS, 6/32OZ			SYSCO USA I INC	76.75	38,375.00
						*THE MASTERS DISTRIBUTION SYSTEMS		
111	N	8PS	SUGAR SUBSTITUTE, P.C., 1 GR, 2000/CS	20	CS	*BRAUN BEEF CO INC		
	Y					*THE MASTERS DISTRIBUTION SYSTEMS		
113	Y		SUGAR, GRANULATED, P.C., 2.8 GR., 2000/CS	100	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
114	Y		SUGAR POWDERED 25#	200	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
115	Y		SUGAR WHITE 25#	100	SK	*THE MASTERS DISTRIBUTION SYSTEMS		
116	Y		SUNFLOWER KERNEL, FLAVOR VARIETY, MUST CREDIT AS 1M/M ALTERNATE, IW	300	CS	*BRAUN BEEF CO INC		
						*THE MASTERS DISTRIBUTION SYSTEMS		

					*NATIONAL FOOD GROUP INC		
117	Ν	SYRUP, PANCAKE & WAFFLE, MAPLE FLAVOR, P.C., 1.5 OZ CUP PREFERRED, 100/1.5 OZ CUPS/CS OR SIMILAR, DIAMOND CRYSTAL #75901 OR SIMILAR	4,000	CS	DIAMOND CRYSTAL BRANDS INC	15.10	60,400.00

	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
	Y					*BRAUN BEEF CO INC		
						*THE MASTERS DISTRIBUTION SYSTEMS		
						*CHURCHFIELD TRADING COMPANY		
						GORDON FOOD SERVICE INC	23.49	93,960.00
118	Y		TEA BAGS, 48/1 OZ OR 96/1 OZ	100	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
119	Y		TOASTER PASTRIES, 51% WHOLE GRAIN, FLAVOR VARIETY, SINGLE PACK ONLY, DOUBLE NOT ACCEPTED, MUST BE SMART SNACK COMPLIANT	1,000	CS	GORDON FOOD SERVICE INC	39.60	39,600.00
	ALT					SYSCO USA I INC	39.99	39,990.00
						*THE MASTERS DISTRIBUTION SYSTEMS		
						*BRAUN BEEF CO INC		
120	Y		TOMATOES, DICED, PACKED FROM FRESH TOMATOES ONLY, 6/#10 CANS/CS	200	CS	CALFED FINANCIAL CORPORATION	27.44	. 5,488.00
						*BRAUN BEEF CO INC		

		Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
	(Y/N)							
						*THE MASTERS DISTRIBUTION SYSTEMS		
121	Y		TOMATO & GREEN CHILES, DICED, CANNED	100	CS	CALFED FINANCIAL CORPORATION	22.14	2,214.00
						*THE MASTERS DISTRIBUTION SYSTEMS		
122	N	8PS	TORTILLA CHIPS, 51% WHOLE GRAIN CORN, UNSALTED, PRE- FRIED IN VEGETABLE OIL, NO TRANS FAT, 3/2# BAG/CS	8,000	CS	SYSCO USA I INC	13.38	107,040.00
	γ					*THE MASTERS DISTRIBUTION SYSTEMS		
						ROBBINS SALES COMPANY, INC.	31.30	250,400.00
123	Y		VINEGAR, WHITE, 5% ACIDITY, GOOD QUALITY, 4/1 GAL/CS	1,000	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
						*BRAUN BEEF CO INC		
						*CHURCHFIELD TRADING COMPANY		
						GORDON FOOD SERVICE INC	20.48	20,480.00
124	Y		WATER, BOTTLED, FILTERED UNFLAVORED IN PLASTIC SCREW TOP BOTTLES, TRUCKLOAD ORDERS, 24/16.9 OZ/CS, NESTLE PURE LIFE, OZARKA, OR OTHER NATIONAL BRAND PERFERRED	15,000	CS	ATLANTIC BEVERAGE COMPANY	3.26	48,900.00

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
						ROBBINS SALES COMPANY, INC.	3.32	49,800.00
						*BRAUN BEEF CO INC		
						SYSCO USA I INC	4.34	65,100.00
						GORDON FOOD SERVICE INC	6.31	94,650.00
						*THE MASTERS DISTRIBUTION SYSTEMS		
125	N	1NL	COLD BREW COFFEE CONCENTRATE, PURE BLACK COLD BREW COFFEE, 6/32OZ./CASE	500	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
	Y					SYSCO USA I INC	81.47	40,735.00
126	Y		CHOCOLATE BEVERAGE SYRUP, SUGAR-FREE. FOUR 1 LITER PLASTIC BOTTLES/CASE. PUMPS INCLUDED. 1 PUMP TO EQUAL 0	100	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
			CALORIES. MONIN M-FS024F OR EQUAL			SYSCO USA I INC	31.03	3,103.00

127	Y	 FRENCH VANILLA BEVERAGE SYRUP, sUGAR-FREE, 4-1 LITER/CS.	100	*THE MASTERS DISTRIBUTION SYSTEMS		
				SYSCO USA I INC	31.03	3,103.00

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
128	Y		CARMEL BEVERAGE SYRUP, sUGAR- FREE, 4-1 LITER/CS	100	CS	*THE MASTERS DISTRIBUTION SYSTEMS		
						SYSCO USA I INC	31.03	3,103.00
129	Y		CHANA MASALA SPICE PACK, 10# 6/CASE	100	CS	FILLMYRECIPE LLC	80.00	8,000.00
130	Y		CURRIED VEGETABLE SPICE PACK, 10#, 6PK/CASE	100	CS	FILLMYRECIPE LLC	80.00	8,000.00
131	Y		CHICKEN TIKA MASALA SPICE PACK, 10# 6PK/CS	100	CS	FILLMYRECIPE LLC	80.00	8,000.00
132	Y		INDIAN MASALA SIMMER SAUCE, GLUTEN-FREE, 6 1/2GALperCS	100	CS	INTERNATIONAL FOODS SOLUTIONS INC	115.00	11,500.00
						FILLMYRECIPE LLC	194.95	19,495.00
133	N	4M0	YOGURT, SHELF-STABLE, VARIETY OF FLAVORS, NO MORE THAN 23G SUGAR/ 6OZ	500	CS	SYSCO USA I INC	28.70	14,350.00
	Y					*THE MASTERS DISTRIBUTION SYSTEMS		

	*BRAUN BEEF CO INC	
	*NATIONAL FOOD GROUP INC	

Rows 1 - 362 (All Rows)

The District solicited 500 suppliers and received 26 responses.